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SIMULTANEOUS EQUATIONS

1. Solve the folowing sysytem of equation
using the method of elimnation by

substitution x +y =7 and 3x - 2y = 11.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NdczAInmhB3j

° Watch Video Solution

2.Solve for xand y :

y+7 2y — x
5 4

7 — bx 3 — 4y
2 6

+3x —5

= 5y — 18

o Watch Video Solution

3. Solve using the method of elimination by
equating coefficients : 3x - 4y =10 and 5x - 3y =

24

| = |


https://dl.doubtnut.com/l/_NdczAInmhB3j
https://dl.doubtnut.com/l/_0h3HU9TChqRN
https://dl.doubtnut.com/l/_f6SDMbPd8npv

I O Watch Video Solution I

4. Solve using the method of elimination by
equating coefficients :

x+y=33and (-0.6)/(3x-2y)=1.

o Watch Video Solution

5.Solve : 65x-33y =97 and 33x - 65y =1

o Watch Video Solution



https://dl.doubtnut.com/l/_f6SDMbPd8npv
https://dl.doubtnut.com/l/_u5mXZfUKJIoj
https://dl.doubtnut.com/l/_21e0G9sQLBbL
https://dl.doubtnut.com/l/_CmwdkOOEqBmq

6. Solve, using cross - multiplication :

e —Ty+28=0and — 7z +5y+ 9 =0.

° Watch Video Solution

7.Solve, using cross - multiplication :

2¢ +3y—17=0 and 3= — 2y — 6 = 0.

o Watch Video Solution

8. Solve by cross - multiplication :

2z + 3y = 6 and 6z — 5y = 4.


https://dl.doubtnut.com/l/_CmwdkOOEqBmq
https://dl.doubtnut.com/l/_Fj5eE8qDuedf
https://dl.doubtnut.com/l/_xl0jeOmNH1og

° Watch Video Solution

9. Solve by cross - multiplication :

3x+y=13and x-3y+9=0.

o Watch Video Solution

8 2 13
+ - =2and = + 2 =22
Y r oy

10. Solve : 1
T

o Watch Video Solution



https://dl.doubtnut.com/l/_xl0jeOmNH1og
https://dl.doubtnut.com/l/_fxFXRiEAPuaJ
https://dl.doubtnut.com/l/_NCpAAqamZALm

44 n 30
T +y r—y
= 13

11.

99 n 40
r+y r—y

= 10

o Watch Video Solution

12. The sum of two numbers is 12 and their

difference is 2. Find the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_EllLeX4BVuN2
https://dl.doubtnut.com/l/_Pcgy0SLOhzD8

13.If 1 is subtracted from the numerator of a

fraction is becomes 3 but if 5 is added to the

1

denominator of the fraction it becomes 7

Find the fraction ?

o Watch Video Solution

14. The sum of the digits of a two - digit
number is 7. If the digits are reversed, the new
number increased by 3, equal 4 times the

original number. Find the original number.

| & |


https://dl.doubtnut.com/l/_Obl7of5Msexs
https://dl.doubtnut.com/l/_nA14uxd8x657

| ¥ Watch Video Solution |

15. The ratio between a two digit number and
the number obtained on reversing its digits is
4 :7.If the difference between the digits of the

number is 3, find the number.

o Watch Video Solution

16. The present ages of A and B are in the ratio
9 : 4. Seven years hence, the ratio of their ages

will be 5: 3. Find their present ages.


https://dl.doubtnut.com/l/_nA14uxd8x657
https://dl.doubtnut.com/l/_VnuwKPnYxrNH
https://dl.doubtnut.com/l/_DD3GjkOlGakk

° Watch Video Solution

17. A farmer sold a calf and a cow for Rs 7,600
thereby making a profit of 25 % on the calf
and 10% on the cow. By selling them for Rs
7,675, he would have realised a profit of 10%
on the calf and 25% on the cow. Find the cost

price of each.

o Watch Video Solution



https://dl.doubtnut.com/l/_DD3GjkOlGakk
https://dl.doubtnut.com/l/_vvPvFRyuNaXC

18. A and B together can do a piece of work in
1

15 days. If one day's work of A be 15 times one

day's work of B, find how many days will each

take to finish the work alone?

o Watch Video Solution

19. A and B each have certain number of
oranges. A says to B, if you give me 10 of
your oranges, | will have twice the number of

oranges left with you. B replies, if you give me


https://dl.doubtnut.com/l/_o3GiCTijPnub
https://dl.doubtnut.com/l/_wpjRR6nZMk8N

10 of your oranges, | will have the same
number of oranges as left with you. Find the

number of oranges with A and B separately.

o Watch Video Solution

20. The sum of a two digit number and the
number obtained on reversing the digits is

165. If the digits differ by 3, find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_wpjRR6nZMk8N
https://dl.doubtnut.com/l/_Jl8NWX72T01I

21. The total railway fare for 5 members in 3-
tier and 3 members in 2-tier is Rs 2,050
whereas, the total railway fare for 8 members
in 3-tier and 5 members in 2-tier is Rs 3,350.
Find the fare to be paid by a couple travelling

through 2-tier.

° Watch Video Solution



https://dl.doubtnut.com/l/_Jvu2bqzJVujr

1. Solve the following paris of linear
(simultaneous) equation using method of
elimination by substution:

8Xx +5y=9

3x+2y=4

o Watch Video Solution

2. Solve the following paris of linear
(simultaneous) equation using method of

elimination by substution:


https://dl.doubtnut.com/l/_Tq0jKrGBmZDv
https://dl.doubtnut.com/l/_R1BDorhBrLh8

2x-3y=7

5x+y=9

° Watch Video Solution

3. Solve the following paris of linear
(simultaneous) equation using method of
elimination by substution:

2x +3y=8

2x =2+ 3y

° Watch Video Solution



https://dl.doubtnut.com/l/_R1BDorhBrLh8
https://dl.doubtnut.com/l/_4XN5mommrL5w
https://dl.doubtnut.com/l/_e2NOMGc3zOHX

4. Solve the following paris of linear
(simultaneous) equation using method of
elimination by substution:

0.2x + Oy = 25

2(x-2)-16y=116

° Watch Video Solution

5. Solve the following paris of linear
(simultaneous) equation using method of

elimination by substution:


https://dl.doubtnut.com/l/_e2NOMGc3zOHX
https://dl.doubtnut.com/l/_7caQrDyfkUsG

6x = 7y + 7

7y-x=8

° Watch Video Solution

6. Solve the following paris of linear
(simultaneous) equation using method of
elimination by substution:

y=4x-7

16x - 5y = 25

° Watch Video Solution



https://dl.doubtnut.com/l/_7caQrDyfkUsG
https://dl.doubtnut.com/l/_VnSnsLcFh6n9
https://dl.doubtnut.com/l/_E99QcllOznLK

7. Solve the following paris of linear
(simultaneous) equation using method of
elimination by substution:

2x + 7y = 39

3x + 5y =31

° Watch Video Solution

8. Solve the following paris of linear
(simultaneous) equation using method of

elimination by substution:


https://dl.doubtnut.com/l/_E99QcllOznLK
https://dl.doubtnut.com/l/_01Q4gD6dKMkL

1.5x + 0.1y = 6.2

3x - 0.4y =11.2

° Watch Video Solution

9. Solve the following paris of linear
(simultaneous) equation using method of
elimination by substution:

2(x-3) +3(y-5)=0

5(x-1)+4(y-4)=0

° Watch Video Solution



https://dl.doubtnut.com/l/_01Q4gD6dKMkL
https://dl.doubtnut.com/l/_e1s1o3K3AQsk
https://dl.doubtnut.com/l/_3zzB8iyYqymi

10. Solve the following paris of linear
(simultaneous) equation using method of

elimination by substution:

2 + 1 5y—3_

= 12
7 T T3
3z + 2 4y — 3
_ —1
2 9 3

o Watch Video Solution

1. Solve the following paris of linear
(simultaneous) equation using method of

elimination by substution:


https://dl.doubtnut.com/l/_3zzB8iyYqymi
https://dl.doubtnut.com/l/_mUNDYuoDuHkV

3x + 2y = 11

2x-3y+10=0

° Watch Video Solution

12. Solve the following paris of linear
(simultaneous) equation using method of
elimination by substution:

2x-3y+6=0

2x +3y-18=0

° Watch Video Solution



https://dl.doubtnut.com/l/_mUNDYuoDuHkV
https://dl.doubtnut.com/l/_JIQuWjN87GIi
https://dl.doubtnut.com/l/_dHrkzMK7emKh

13. Solve the following pairs

of linear

(simultaneous) equation using method of

elimination by subsitution:

3T oY

_ 9 —
5 3+ 0
T (7] 1
242 9
3+2 6

o Watch Video Solution

14. Solve the following paris

of linear

(simultaneous) equation using method of

elimination by substution:


https://dl.doubtnut.com/l/_dHrkzMK7emKh
https://dl.doubtnut.com/l/_Y9B0cw8gqJd4

r Y
i T A
6 15

x y 3
3_12_44

° Watch Video Solution

1. For solving each pair of equations, in this
exercise, use the method of elimination by
equating coefficients :

13 + 2y = 9x

3y =7x



https://dl.doubtnut.com/l/_Y9B0cw8gqJd4
https://dl.doubtnut.com/l/_jGxfNjMSKw0V

o Watch Video Solution

2. For solving each pair of equations, in this
exercise, use the method of elimination by
equation coefficiients :
3x-y=23

Y

T
BT A
3+4

o Watch Video Solution

3. For solving each pair of equations, in this

exercise, use the method of elimination by


https://dl.doubtnut.com/l/_jGxfNjMSKw0V
https://dl.doubtnut.com/l/_h0kKdWlfpYz3
https://dl.doubtnut.com/l/_26rnP1AczaL6

equation coefficiients :

5y €T
2 38
Y oT
42T 19
2 T3

o Watch Video Solution

4. For solving each pair of equations, in this
exercise, use the method of elimination by

equation coefficiients :

(-2 = (1)

o Watch Video Solution



https://dl.doubtnut.com/l/_26rnP1AczaL6
https://dl.doubtnut.com/l/_WZDmvkck37Yg
https://dl.doubtnut.com/l/_nIATMpAUhyHJ

5. For solving each pair of equations, in this
exercise, use the method of elimination by
equation coefficients :

y=2x-6

y=0

o Watch Video Solution

6. For solving each pair of equations, in this
exercise, use the method of elimination by

equation coefficiients :

r —Y

6

2(4 — z)


https://dl.doubtnut.com/l/_nIATMpAUhyHJ
https://dl.doubtnut.com/l/_Y1t8yM4Nh4Po

° Watch Video Solution

7. For solving each pair of equations, in this
exercise, use the method of elimination by
equation coefficiients :

3-(x-5)=y+2

2(x+y)=4-3y

° Watch Video Solution



https://dl.doubtnut.com/l/_Y1t8yM4Nh4Po
https://dl.doubtnut.com/l/_nZcShclCoCeO

8. For solving each pair of equations, in this
exercise, use the method of elimination by

equation coefficiients :

2x-3y-3=0
2 iyt = =0
3 YT 2T

o Watch Video Solution

9. For solving each pair of equations, in this
exercise, use the method of elimination by

equation coefficiients :


https://dl.doubtnut.com/l/_4LvkPAGFb01W
https://dl.doubtnut.com/l/_aD2qGNH9fFVQ

13x + 11y = 70

11x + 13y = 74

° Watch Video Solution

10. For solving each pair of equations, in this
exercise, use the method of elimination by
equation coefficiients :

41x + 53y =135

53x + 41y = 147

° Watch Video Solution



https://dl.doubtnut.com/l/_aD2qGNH9fFVQ
https://dl.doubtnut.com/l/_ukMCfFhAKzJw
https://dl.doubtnut.com/l/_PcJivghXfFRJ

M. If 2x + y = 23 and 4x -y = 19, find the values

of x - 3y and 5y - 2x.

o Watch Video Solution

12. If 10y = 7Tz — 4 and 12z + 18y = 1. Find

the value of 4 + 6y and 8y — =.

° Watch Video Solution



https://dl.doubtnut.com/l/_PcJivghXfFRJ
https://dl.doubtnut.com/l/_Z2CzcUopda5k

13. Solve for xand y :

y+7 2y — x
5 4

7 — dx 3 — 4y
2 + 6

+3x —5

— 5y — 18

° Watch Video Solution

14. Solve for xand y :

L —Y
8

2+ =2+

4x =17 -

Sy + 2
3

o Watch Video Solution



https://dl.doubtnut.com/l/_SlHZEiT6lu5i
https://dl.doubtnut.com/l/_nxkPUiBPhYuF
https://dl.doubtnut.com/l/_n9jEwPwZngyB

15. Find the value of m, if x = 2,y =1 s

solution of the equation 2x + 3y =m.

o Watch Video Solution

16.10% of x + 20% of y = 24

3x-y=20

o Watch Video Solution



https://dl.doubtnut.com/l/_n9jEwPwZngyB
https://dl.doubtnut.com/l/_C7kYVXRrpnxR

17. The value of expression max — ny is 3 when
x =5 and y = 6. And its value is 8 when

x = 6 and y = 5. Find the values of m and n.

o Watch Video Solution

18. Solve 11(x - 5) + 10(y-2) + 54 =0

7(2x-1)+9(3y-1)=25

° Watch Video Solution



https://dl.doubtnut.com/l/_Mqp0BPLrqZ8t
https://dl.doubtnut.com/l/_oxXOEvnF6yjb

19. Solve :

T+x 2rx—y
5 a4 WO
by — 7 4r — 3

2 T 6

— 18 — bz

° Watch Video Solution

20.Solve for xand y :

T —y
8

2+ =2+

4x =17 -

Sy + 2
3

o Watch Video Solution



https://dl.doubtnut.com/l/_zdZUYjtamssb
https://dl.doubtnut.com/l/_SqtH5vPVDUxV

1. Solve, using cross - multiplication :
4x + 3y =17

3x-4y +6=0

° Watch Video Solution

2.Solve, using cross - multiplication :
3x+ 4y =11

2x+3y=38

I ° Watch Video Solution


https://dl.doubtnut.com/l/_KH8PWP78ezzd
https://dl.doubtnut.com/l/_RGps3Z17wsT4

3. Solve, using cross - multiplication :
6Xx+7y-11=0

5x + 2y = 13

° Watch Video Solution

4. Solve, using cross - multiplication :
5x+4y+14=0

3=-10-4y

° Watch Video Solution



https://dl.doubtnut.com/l/_RGps3Z17wsT4
https://dl.doubtnut.com/l/_GSJ4BAgcFaBe
https://dl.doubtnut.com/l/_ZctpESLqOXjn

5. Solve, using cross - multiplication :
X-y+2=0

7x + 9y = 130

° Watch Video Solution

6. Solve , Uing cross multiplication method

dr —y =5
by —4x =7

° Watch Video Solution



https://dl.doubtnut.com/l/_ZctpESLqOXjn
https://dl.doubtnut.com/l/_Zzt0XzCq6NBM
https://dl.doubtnut.com/l/_sd2zIyKr7HL9
https://dl.doubtnut.com/l/_on0MYRejAJvT

7.Solve, using cross - multiplication :
4x-3y=0

2x+3y=18

° Watch Video Solution

8. Solve, using cross - multiplication :
8x+5y=9

3x+2y=4

° Watch Video Solution



https://dl.doubtnut.com/l/_on0MYRejAJvT
https://dl.doubtnut.com/l/_rLAARpCe99lx
https://dl.doubtnut.com/l/_AfN7OFbsZpyc

9. Solve, using cross - multiplication :
4x-3y-11=0

6x+7y-5=0

° Watch Video Solution

10. Solve, using cross - multiplication :
4% + 6y =15

3x-4y=7

° Watch Video Solution



https://dl.doubtnut.com/l/_AfN7OFbsZpyc
https://dl.doubtnut.com/l/_kDJjCbFtEBYv

11. Solve, using cross - multiplication :
0.4x + 1.5y =6.5

0.3x + 0.2y = 0.9

o Watch Video Solution

12. Solve using cross-multiplication

V2z — /3y =0
Vb + /2y =0

o Watch Video Solution



https://dl.doubtnut.com/l/_z7GD4wFAiJxV
https://dl.doubtnut.com/l/_fvq4EQC4sdnW

1. Solve :

9 4

— —_— — p— 8

T (]

13

— + z = 101
T (]

o Watch Video Solution

2.Solve :
3 2
— +—=10
T (]
9 7
— — — =105
T Y

l ° Watch Video Solution


https://dl.doubtnut.com/l/_ZyeJ8PlQW9ga
https://dl.doubtnut.com/l/_J8uxMVM1d12E

3. Solve :

8

St + — =19
/

3Jr —— =7
Yy

o Watch Video Solution

6
4, Solve : 4:13—|——:15and3x—é:7.

Y Y

Hence, find 'a' if y = ax -2.

o Watch Video Solution



https://dl.doubtnut.com/l/_J8uxMVM1d12E
https://dl.doubtnut.com/l/_nYxX8cLx4BSI
https://dl.doubtnut.com/l/_44thbrgxZnT9

1. The ratio of two numbers is § Af 2 s
subtracted from the first and 8 from the

second, the ratio becomes the reciprocal of

the original ratio. Find the numbers.

o Watch Video Solution

2. Two numbers are in the ratio 4: 7 . If thrice
the larger be added to twice the smaller, the

sum is 59. Find the numbers.


https://dl.doubtnut.com/l/_MgxD6w7bX1PQ
https://dl.doubtnut.com/l/_IxHzfWvpVRjI

° Watch Video Solution

3. When the greater of the two numbers
increased by 1 divides the sum of the
3
numbers, the result is 2 When the difference

of these numbers is divided by the smaller, the

result is 7 Find the numbers .

° Watch Video Solution



https://dl.doubtnut.com/l/_IxHzfWvpVRjI
https://dl.doubtnut.com/l/_YDwPXmpZNeAZ

4. The sum of two positive numbers x and y
(z > y) is 50 and the difference of their

squares is 720. Find the numbers.

o Watch Video Solution

5. The sum of two numbers is 8 and the
difference of their squares is 32. Find the

numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_2EqiUWe1IaxK
https://dl.doubtnut.com/l/_y5XdrDGsxXTU
https://dl.doubtnut.com/l/_0H7A5HERt7Tc

6. The difference between two positive

numbers x and y (z >vy) is 4 and the

. : . .4
difference between their reciprocals is —

21°

Find the numbers.

° Watch Video Solution

7. Two numbers are in the ratio 4: 5. If 30 is
subtracted from each of the numbers, the

ratio becomes 1: 2. Find the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_0H7A5HERt7Tc
https://dl.doubtnut.com/l/_kxNZUgAUfrN4

8. If the numerator of a fraction is increased by
2 and denominator is decreased by 1, it
becomes 3 If the numerator is increased by 1

and denominator is increased by 2 it becomes

1
§ Find the fraction.

o Watch Video Solution

9. The sum of the numerator and the

denominator of a fraction is equal to 7. Four


https://dl.doubtnut.com/l/_TB3DYD2DH6rV
https://dl.doubtnut.com/l/_rzHw9V1VjCXJ

times the numerator is 8 less than 5 times the

denominator. Find the fraction.

° Watch Video Solution

10. If the numerator of a fraction is multiplied

by 2 and its denominator is increased by 1, it

becomes 1. However, if the numerator is

increased by 4 and denominator is multipled
. 1

by 2, the fraction becomes —. Find the

2

fraction.

° Watch Video Solution



https://dl.doubtnut.com/l/_rzHw9V1VjCXJ
https://dl.doubtnut.com/l/_FB4kME3rct6o

1. A fraction becomes 3 if 5 is subtracted
from its numerator and 3 is subtracted from
its denominator . If the denominator of this
fraction is 5 more than its numerator. Find the

fraction.

o Watch Video Solution

12. The sum of the digits of a two digit number
is 5. If the digits are reversed, the number is

reduced by 27. Find the number.


https://dl.doubtnut.com/l/_FB4kME3rct6o
https://dl.doubtnut.com/l/_5qflUNdjfx1Z
https://dl.doubtnut.com/l/_7HGq0XWTgQSu

° Watch Video Solution

13. The sum of the digits of a two digit number
is 7. If the digits are reversed, the new number
decreased by 2, equals twice the original

number. Find the number

o Watch Video Solution

14. The ten's digitof a two digit number is

three times the unit digit. The sum of the


https://dl.doubtnut.com/l/_7HGq0XWTgQSu
https://dl.doubtnut.com/l/_cD6O7yJXGft5
https://dl.doubtnut.com/l/_Votqw1sl6E1F

number and the unit digit is 32. Find the

number

° Watch Video Solution

15. A two-digit number is such that the ten's
digit exceeds twice the unit's digit by 2 and
the number obtained by inter-changing the
digits is 5 more than three times the sum of

the digits. Find the two digit number.

° Watch Video Solution



https://dl.doubtnut.com/l/_Votqw1sl6E1F
https://dl.doubtnut.com/l/_19mf3meX3FaQ
https://dl.doubtnut.com/l/_bym30WyYrjxQ

16. Four times a certain two digit number is
seven times the number obtained on
interchanging its digits. If the difference

between the digits is 4, find the number

° Watch Video Solution

17. The sum of a two digit number and the
number obtained by reversing the order of its
digits is 121, and the two digits differ by 3. Find

the number.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_bym30WyYrjxQ
https://dl.doubtnut.com/l/_08prBhJMP39U

18. A two digit number is obtained by
multiplying the sum of the digits by 8. Also, it
is obtained by multiplying the difference of
the digits by 14 and adding 2. Find the

number.

° Watch Video Solution



https://dl.doubtnut.com/l/_08prBhJMP39U
https://dl.doubtnut.com/l/_HsFVK4aMBvmo

1. Five years ago, A's age was four times the
age of B. Five years hence , A's age will be twice

the age of B. Find their present ages.

o Watch Video Solution

2. Ais 20 years older than B. 5 years ago, A was

3 times as old as B. Find their present ages.

° Watch Video Solution



https://dl.doubtnut.com/l/_hVSRChi4yFQB
https://dl.doubtnut.com/l/_WijnHXEB9GA4

3. Four years ago, a mother was four times as
old as her daughter. Six years later, the mother
will be two and a half times as old as her
daughter at that time. Find the present ages

of mother and her daughter.

o Watch Video Solution

4.The age of the father is twice the sum of the

ages of his two children. After 20 yr, his age


https://dl.doubtnut.com/l/_RF5wDvJhJGud
https://dl.doubtnut.com/l/_k39HKHDX4naq

will be equal to the sum of the ages of his

children. Find the age of the father.

° Watch Video Solution

5. The annual incomes of A and B are in the
ratio 3:4 and their annual expenditures are in
the ratio 5: 7. If each saves 5,000, find their

annual incomes.

o Watch Video Solution



https://dl.doubtnut.com/l/_k39HKHDX4naq
https://dl.doubtnut.com/l/_u5k6vnEpzxi0

6. In an examination, the ratio of passes to
failures was 4: 1. Had 30 less appeared and 20
less passed, the ratio of passes to failures
would have been 5: 1. Find the number of

students who appeared for the examination.

o Watch Video Solution

7. A and B both have some pencils. If A gives 10
pencils to B, then B will have twice as many as

A. And if B gives 10 pencils to A, then they will


https://dl.doubtnut.com/l/_ta6PU9E3TYx1
https://dl.doubtnut.com/l/_9uPkVxJk7VQS

have the same number of pencils. How many

pencils does each have?

° Watch Video Solution

8. 1250 Persons went to see a circus-show. Each
adult paid 75rs and each child paid 25rs for
the admission ticket. Find the number of
adults and number of children, if the total

collection from them amounts to 61250rs.

° Watch Video Solution



https://dl.doubtnut.com/l/_9uPkVxJk7VQS
https://dl.doubtnut.com/l/_zQDtzb3OJx31
https://dl.doubtnut.com/l/_6xnUUwjr7KHO

9. Two articles A and B are sold for 1,167
making 5% profit on A and 7% profit on B. If
the two articles are sold for 1,165, a profit of
7% is made on A and a profit of 5% is made on

B. Find the cost price of each article.

o Watch Video Solution

10. Pooja and Ritu can do a piece of work in
174 days. If one day work of Pooja be three
fourth of one day work of Ritu, find in how

many days each will do the work alone.


https://dl.doubtnut.com/l/_6xnUUwjr7KHO
https://dl.doubtnut.com/l/_p2pcYQH2K8Md

° Watch Video Solution

1. One says, "Give me a hundred, friend ! | shall
then become twice as rich as you". The other
replies. 'If you give me ten, | shall be six times
as rich as you". Tell me what is the amount of
their (respective) capital? [From the Bijaganita

of B

o Watch Video Solution



https://dl.doubtnut.com/l/_p2pcYQH2K8Md
https://dl.doubtnut.com/l/_fIZCBJNYONqG

2. The sum of a two digit number and the
number obtained by reversing the order of its
digits is 99. If the digits differ by 3, find the

number.

o Watch Video Solution

3. Seven times a two-digit number is equal to
four times the number obtained by reversing
the digits. If the difference between the digits

is 3. Find the number.



https://dl.doubtnut.com/l/_fIZCBJNYONqG
https://dl.doubtnut.com/l/_xnqaXnl8U1GG
https://dl.doubtnut.com/l/_2ZyqAif3itHX

o Watch Video Solution

4. From Delhi station, if we buy 2 tickets for
station A and 3 tickets for station B, the total
cost is 77. But if we buy 3 tickets for station A
and 5 tickets for station B, the total cost is 124.
What are the fares from Delhi to station A and

to station B?

o Watch Video Solution



https://dl.doubtnut.com/l/_2ZyqAif3itHX
https://dl.doubtnut.com/l/_ve4q3Hul25VW

5. The sum of digits of a two digit number is 11.
If the digit of ten's place is increased by 5 and
the digit at unit's place is decreased by 5 the
digit of the number are found to be reversed.

Find the origional number.

o Watch Video Solution

6. 90% acid solution (90% pure acid and 10%

water) and 97% acid solution are mixed to


https://dl.doubtnut.com/l/_kq9xOHhXr6iz
https://dl.doubtnut.com/l/_hZiHKQsFn6u4

obtain 21 litres of 95% acid solution. How

many litres of each solution are mixed.

o Watch Video Solution

7. Class Xl students of a school wanted to give
a farewell party to the outgoing students of
class Xll. They decided to purchase two kinds
of sweets, one costing 250 per kg and the
other costing 350 per kg. They estimated that

40 kg of sweets were needed. If the total


https://dl.doubtnut.com/l/_hZiHKQsFn6u4
https://dl.doubtnut.com/l/_gUPVLHLk0eGH

budget for the sweets was 11,800, find how

much sweets of each kind were bought?

o Watch Video Solution

8. Mr. and Mrs. Ahuja weigh x kg and y kg
respectively. They both take a dieting course,
at the end of which Mr. Ahuja loses 5 kg and
weighs as much as his wife weighed before the
course.

Mrs. Ahuja loses 4 kg and weighs -7/8 th of

what her husband weighed before the course.


https://dl.doubtnut.com/l/_gUPVLHLk0eGH
https://dl.doubtnut.com/l/_D4D7XwmYh5wR

Form two equations in x and y to find their

weights before taking the dieting course.

o Watch Video Solution

9. A part of monthly expenses of a family is
constant and the remaining vary with the
number of members in the family. For a family
of 4 persons, the total monthly expenses are <
10,400, whereas for a family of 7 persons, the

total monthly expenses are 15,800. Find the


https://dl.doubtnut.com/l/_D4D7XwmYh5wR
https://dl.doubtnut.com/l/_GY3UAISYQ7Tf

constant expenses per month and the

monthly expenses on each member of a family.

o Watch Video Solution

10. The taxi charges in a city consist of a fixed
charge together with the charge for the
distance covered. For a distance of 10 km, the
charge paid is 3157s and for a journey of 15km,
the charge paid is 465rs. What are the fixed

charges and the charge per kilometre ? How


https://dl.doubtnut.com/l/_GY3UAISYQ7Tf
https://dl.doubtnut.com/l/_yPUEgmxxp5tx

much does a person have to pay for travelling

a distance of 32km ?

° Watch Video Solution

11. A lending library has a fixed charge for the
first three days and an additional charge for
each day thereafter. Saritha paid Rs 27 for a
book kept for seven days, while Susy paid Rs 21
for the book she kept for five days. Find the

fixed charge and the charge for each extra day.

° Watch Video Solution



https://dl.doubtnut.com/l/_yPUEgmxxp5tx
https://dl.doubtnut.com/l/_foezLcb3Ft3n

12. The area of a rectangle gets reduced by 9
square units if its length is reduced by 5 units
and the breadth is increased by 3 units. If we
increase the length by 3 units and breadth by
2 units, the area is increased by 67 square
units. Find the length and breadth of the

rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_foezLcb3Ft3n
https://dl.doubtnut.com/l/_n3rEm3B5y13b

13. It takes 12 hours to fill a swimming pool
using two pipes. If the pipe of larger diameter
is used for 4 hours and the pipe of smaller
diameter is used for 9 hours, only half of the
pool is filled. How long would each pipe take

to fill the swimming pool ?

o Watch Video Solution



https://dl.doubtnut.com/l/_m75fSE7a1pyk

